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Independent set in a graph 



Maximum independent set

Maximal independent set 



Greedy sequential algorithm



MIS via graph coloring 







Correctness 









Case 1 : There is a neighbor of degree 2



Case 2 : all neighbors have degree >2



R – event that v removed 





Good nodes die out   

We cannot prove that there is always a certain fraction of good nodes  





Auxiliary graph  -- directed edges towards higher degree





By contradiction, let more than 1/3 neighbors have not smaller degree

Set S of such nodes  

So v is good!?



Corollary: number of edges pointing to bad nodes is at most half 

















Matching in a graph 



Line graph 



Independent set in line graph  ---- matching in the graph 














